70 UODO0O0O0OO0O0O0O0O0

71 000000

0 p.174
00ooood  signedd 00000000 Munsignedd
0o0bOO0o0o0bOO0O0bOO0ODobOOo0obOOoOooDDbOoOoooOoooDag

0 p.176
limitshOOO0O 0O000000OO0OO0O0DOOODOOOOODOOOOOOO0
0do0oooboodgn
Q711 000 List7-100000000000O000OO

0 Microsoft Visual Studio O O O O INT_MIN [0 O INT_MAX O
0 UINT_MAX OJ oootd

0 p.179

sizeof OO DO

sizeof (O 0O)

0o0o0do0bO0o0boobOOoobOooboo:0o0000004a

sizeof O /*000000boooooo o ) oog =/
0d0do0o0o00obOoooOoooo0oobOoD.-0boooooooooobooog
0o0o00d0obOO0doDoooDoOoo.-ggdoooooon
0000000o00bO0obOOoooOooobOobDoOooooooOobooooon
ooooobooooo

0 p.181
typedef 0 0 typedef 00D O00O0OD0O0ODOODOODOOOOOOODOODOODOOO
ooooooooa

0o | 0oo | oooo
typedef [I O ‘typedefD 00000 ;| 000 typedef unsigned size_t;
0 p.188

gboob O0obooboobobooboobooboobooboonbd
gboooooooooooooooooooo
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0 p.196

0 p.201

0 p.202

0 p.205

0 IO DNk~ W~

—_— = = =
W N = OO

o000 8sUoooooo  Oo0Oleddooooo  0Oo0o0o0o0dgoo
100 80 | 160
48 | 060 | 0x30
65 | 0101 | Ox41
97 | 0141 | 0Ox61

00000 printf000000 800000 160000000000000
0000, ODAOFO0O0O00O0O00000 0000000000000

mathh 0000 sin, cos, tan, sqrt U square root — 0 0 0 O, exp, log 0 0
0000000000000 oo0o00ooo0ooooooooOooooao

o0obO0od0 bOooobbbouoobobbobobbOoOoobobibOO0oODfloat,
double O OO ODOO

000000 000000000000000000000000000000
000000000000000000000000000000000 O(Table
7-11)

72 O000OOOO

sizeof 000000

#include <stdio.h>

void foo(int x[]) {
printf("size_=_%u\n", sizeof(x));

}

int main(void) {
int a[] = { 1, 2, 3 };

printf("size_=_%u\n", sizeof(a));
foo(a);
return 0;

}

Uoobo0ooobooobDbOooiDnD sizeof DODOOOOOOooooO
ooo
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U080 0UU0Uoouoobooodod
guootdbood

81 OO OOO

goopood
O, O

0 p216

uboooooo,b00.,ob0boobogoon gbooooo gooooo
googd

0 p.224
000 (recursive) 0000000000000 0000000000 xO00O0O

OxDOoobooooboo

factorial (4)
— 4 * factorial(3)
— 4 * 3 * factorial(2)
— 4 * 3 % 2 * factorial(l)
— 4 % 3 % 2 * 1 * factorial(0)
- 4 ® 3% 2% 1 %1

e UOODOfor,whileUDOUODOODOUODOOOOOO,0000OD0ODOCODO
ggbbooobobouoobbuooobbooboobooobooabo
gbobooboooboobobobobomobooooobobooboon
gobobobobobobobm

e JO00OOODOOIDOODOOODOOULUDOOODOUODOODOOCO
0000000oooooo0o0oooooooooooog
0 p.228
getchar00 000000  0O00O00000O00OO
0 p.228
EOF getcharOOOOOOOOOODO Ooooooooooo
O00O00O0O0O0EFOOO@Mstdioh OO ODOOODOOMM

0 p.231
Ooo0o00O0O0 OoOoOOOoOOoOOOoOoOoOoooooooDboOOObOOOoOoocono

o000 oS Unix, MS-DOSO O)DOODOOOODO

ubobood<gooood — booboobobooboboobbooobooo
oobodg>ooooo — Oobobooboobbooboobo
obobd>-»>0obotbd — bOobobobobobobobobobo

gobooaoo
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00 CO0O00000000000000000000000000000O0  0p232

ASClIOO0O0O0OO0OO0O0O0O0O0OOO0: OO (100 |160
0’ 48 | 0x30
A’ 65 | 0x41
’a’ 97 | 0x61
0 p.234
0000 \nOOOO\Nt,\a, \bOOOOOOOOOOOOOOOOOOOOO
0000000000000 00O0b0oOoOO000000 __ 0000
§2 OOOOOnd
oooooooo
1 #include <stdio.h>
2
3 int main(void) {
4 int i, j;
5 int x[7] = { 2, 5, 1, 4, 0, 3, 6 };
6
7 for (i =0, j=6;1i<j; i++, j--) {,#0000O00O00O00O00O =*/
8 int temp = x[i];
9 x[i] = x[j];
10 x[j] = temp;
11 }
12
13 puts("OO0O0O0OGOO™;
14 for (i = 0; i < 7; i++) { ,O000000a */
15 printf("x[%d]_=_%d\n", i, x[i]);
16 }
17
18 return 0;
19 }
0o0o00o0o0oooo
1 #include <stdio.h>
2
3 void move(int n, int a, int b) {
4 printf("O 00 0%dO O %d0O O 0 %dO \n", n, a, b);
5 }
6
7 S A n0000000a00pO00O0O0O0O0O */
8 void hanoi(int n, int a, int b, int c) {
9 if (n > ®) {
10 hanoi(n - 1, a, c, b);
11 move(n, a, b);
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12 hanoi(n - 1, c, b, a);

13 3

14 }

15

16 int main(void) {

17 int n;

18 printf("OO0O0O0O0O0O7?."); scanf("%d", &n);
19 hanoi(n, 1, 2, 3);

20 return 0;

21 }

gbooooboobon

1 #include <stdio.h>

2 #include <math.h>

3

4 void drawTree(int d, double x, double y, double r, double t) {
5 /% d ---0O0o0ooon

6 (x, y) ---Q0Q0O0oO0oOonooa

7 r ---0Ooooao

8 t ---0000o0o0Ooooooog=*/

9 double ril;

10 if (d == 0) return; /* 000 */

11

12 printf("%6.3£.%6.3f.%6.3£f.%6.3f\n",

13 X, v, X +r * cos(t), y+r * sin(t));

14 drawTree(d - 1, x + r * cos(t),

15 y +r * sin(t), 0.5 * r, t);

16 rl = 0.5 * r;

17 drawTree(d - 1, x + rl * cos(t),

18 y + rl * sin(t), 0.5 * r, t + 3.1416 / 2);
19 drawTree(d - 1, x + rl * cos(t),
20 y + rl * sin(t), 0.5 * r, t - 3.1416 / 2);
21 }
22
23 int main(void) {
24 drawTree(6, 128, 255, 128, -3.1416 / 2);
25 return 0;
26 }
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